>

L

i
!
|
|
Name: Block: Unit 2: Measurements Study Guide |
|
!

Pre

1] 3=
Temperaluie

1. What does directly proportional mean? WH€Y) ovie Yarlable Increa the other r
varigblé wncreafes '
2. What does inversely proportional mean? when 0ne vardole increares tihhe othey

vovia g e
3. Is the graph above inverse or direct? Explain, CRLIEGMS.
INWVRYSE: +emp Wcreases Pressure cgereafes
4. What is the independent variable? ; :
. mﬂa-t.-ﬁ:{h coﬁat;\;ﬁﬁcﬂww 15 M0t depondent on anything
What is the dependent variable? _ 4 5
Nardble that s ested jdepends pn e independent ZQ5m
What axis represents the independent variable? ¥ -AYL 1S
What axis represents the dependent variable? Y -avis
In the graph above, what is the independent variable? +eymperature
In the graph above, what is the dependent variable? Press ure
10. Determine the measurements below in the following:

f_) 3.70em or 3. Tlcmn
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11. Identify the number of significant digits in each of the following measurements,
a. 520mL s b. 06120 ms_ 2 c. #2230 kg 3 d. z.ssax;p/q. 9
e. 10002ns_5 £ R6451Pa q g.-06001cm _| h. 1086085 _ 2

10. Perform the following calculations and correct number of sig figs:
1
2. 03287 cmx452em=14.89 (14, ‘Tamf d. 125.5kg +52.68 kg + 2.1kg = | B0\ 9%%{ 80-55";
b. 52.88 g =4.72f=‘{.72_%ﬂ_ e 333m=2.007= 3.0

11.2 mL 110s

- 2
':) ¢. 520 mm x 19.120 mm= OHL{'Z=@ f. 520g + 4500 + 5000 = [OOZO%

11. The mass of an object was recorded as 9.93 g, 9.90 g and 10.02 g, using an electronic analytical balance. What is the

average of these three masses expressed to the correct number of significant figures?
793¢+ 990¢ + 0028 - 29.959 [3- @




12. Put these numbers into scientific notation
i 453 10
s ogmes2e0 __2.240 x 10 b. 645308 ___© . X110

13. Describe Accuracy C\Oﬁg/ achileyve QOQLQ( {-ar‘qe,{
14. Describe Precision Con&iSterr

15. Measurement 1: 5.2 8
Measurement 2: 5.4 g
Measurement 3: 3 g
Measurement 4: 2.45 g

These data show repeated measurements of the same object which has a known mass of|5.38 3rams, Which
measurement is most accurate? Meafwe ment 2L

16. First measurement: 6.293 g
Second measurement: 5.294 g
Third measurement: 6.295 g
A student obtained these data after measuring the mass of an object three different times. If the true value of the
object’s mass is 5.550 g, these data are bestdescribedas — PYeCISE but Notr accurote

17. Calculate the density of unknown metal. The mass is 3.100 g and the volume is 1.05 mL. % rermemieer \S' ;5\\

18. Whatiis the formula for calculating % error?
lexperymental - acceprted |

o X loo
o €Yror - Yed
19. Calculate the percent error for question 17, when the actua! density of the unknown metal is 2.70 g/mL. St g AasS

12,25 - 2,70 110 . 222 ywo= 0.093 x100-(9.3

~ 2.0 Q= 2.70

20. Convert the following:

a. 1 kilometer = | FHZ C m b. 1 centimeter = 0- O l m C. 1 millimeter = O° 0.8 [ m

d.l.g%= 1260 mL ,\w&mm= OOOO 2-blﬁrokm f,4&32rng= H.Z?)Z

cg

B- \%E)g= O-q50 kg h.O&Sm: o i 5 cm i+%l‘l’1|.:b‘5£f3‘ L

22. Lab based question: Calculate the density of the metal below. Volume of the metal was determined by water
displacement.

3& remw Mass (g) | Initial Volume | Final Volume \.rah&me
8! ﬁ 23.432g | 6.0mL 8.2mL —mj"
7 2.,2mL

D- fasS _ 23,4324 @
VD\urnQ, 2.2 ML L




